
𝟐𝝅

𝝅

𝟐

𝝅

𝟑𝝅

𝟐

III

III IV

++

--

sin𝜶



sin 𝜶

sin(
𝝅

𝟐
+ 𝜶)

sin(
𝝅

𝟐
− 𝜶)

sin(𝝅 + 𝜶)

sin(𝝅 − 𝜶)

sin(
𝟑𝝅

𝟐
+ 𝜶)

sin(
𝟑𝝅

𝟐
− 𝜶)

sin(𝟐𝝅 + 𝜶)

sin(𝟐𝝅 − 𝜶)



sin 𝜶

sin(
𝝅

𝟐
+ 𝜶) 𝒄𝒐𝒔𝜶

sin(
𝝅

𝟐
− 𝜶) 𝒄𝒐𝒔𝜶

sin(𝝅 + 𝜶) −𝒔𝒊𝒏𝜶

sin(𝝅 − 𝜶) 𝒔𝒊𝒏𝜶

sin(
𝟑𝝅

𝟐
+ 𝜶) -𝒄𝒐𝒔𝜶

sin(
𝟑𝝅

𝟐
− 𝜶) -𝒄𝒐𝒔𝜶

sin(𝟐𝝅 + 𝜶) 𝒔𝒊𝒏𝜶

sin(𝟐𝝅 − 𝜶) −𝒔𝒊𝒏𝜶



𝟐𝝅

𝝅

𝟐

𝝅

𝟑𝝅

𝟐

III

III IV

+-

+-

cos𝜶



cos 𝜶

cos(
𝝅

𝟐
+ 𝜶)

cos(
𝝅

𝟐
− 𝜶)

cos(𝝅 + 𝜶)

cos(𝝅 − 𝜶)

cos(
𝟑𝝅

𝟐
+ 𝜶)

cos(
𝟑𝝅

𝟐
− 𝜶)

cos(𝟐𝝅 + 𝜶)

cos(𝟐𝝅 − 𝜶)



cos 𝜶

cos(
𝝅

𝟐
+ 𝜶) −𝒔𝒊𝒏𝜶

cos(
𝝅

𝟐
− 𝜶) 𝒔𝒊𝒏𝜶

cos(𝝅 + 𝜶) −𝒄𝒐𝒔𝜶

cos(𝝅 − 𝜶) −𝒄𝒐𝒔𝜶

cos(
𝟑𝝅

𝟐
+ 𝜶) 𝒔𝒊𝒏𝜶

cos(
𝟑𝝅

𝟐
− 𝜶) -𝒔𝒊𝒏𝜶

cos(𝟐𝝅 + 𝜶) 𝒄𝒐𝒔𝜶

cos(𝟐𝝅 − 𝜶) 𝒄𝒐𝒔𝜶



𝟐𝝅

𝝅

𝟐

𝝅

𝟑𝝅

𝟐

III

III IV

+-

-+

tg𝜶



tg 𝜶

tg(
𝝅

𝟐
+ 𝜶)

tg(
𝝅

𝟐
− 𝜶)

tg(𝝅 + 𝜶)

tg(𝝅 − 𝜶)

tg(
𝟑𝝅

𝟐
+ 𝜶)

tg(
𝟑𝝅

𝟐
− 𝜶)

tg(𝟐𝝅 + 𝜶)

tg(𝟐𝝅 − 𝜶)



tg 𝜶

tg(
𝝅

𝟐
+ 𝜶) −𝒄𝒕𝒈𝜶

tg(
𝝅

𝟐
− 𝜶) 𝒄𝒕𝒈𝜶

tg(𝝅 + 𝜶) 𝒕𝒈𝜶

tg(𝝅 − 𝜶) −𝒕𝒈𝜶

tg(
𝟑𝝅

𝟐
+ 𝜶) −𝒄𝒕𝒈𝜶

tg(
𝟑𝝅

𝟐
− 𝜶) 𝒄𝒕𝒈𝜶

tg(𝟐𝝅 + 𝜶) 𝒕𝒈𝜶

tg(𝟐𝝅 − 𝜶) −𝒕𝒈𝜶



𝟐𝝅

𝝅

𝟐

𝝅

𝟑𝝅

𝟐

III

III IV

+-

-+

ctg𝜶



ctg 𝜶

ctg(
𝝅

𝟐
+ 𝜶)

ctg(
𝝅

𝟐
− 𝜶)

ctg(𝝅 + 𝜶)

ctg(𝝅 − 𝜶)

ctg(
𝟑𝝅

𝟐
+ 𝜶)

ctg(
𝟑𝝅

𝟐
− 𝜶)

ctg(𝟐𝝅 + 𝜶)

ctg(𝟐𝝅 − 𝜶)



ctg 𝜶

ctg(
𝝅

𝟐
+ 𝜶) −𝒕𝒈𝜶

ctg(
𝝅

𝟐
− 𝜶) 𝒕𝒈𝜶

ctg(𝝅 + 𝜶) 𝒄𝒕𝒈𝜶

ctg(𝝅 − 𝜶) −𝒄𝒕𝒈𝜶

ctg(
𝟑𝝅

𝟐
+ 𝜶) −𝒕𝒈𝜶

ctg(
𝟑𝝅

𝟐
− 𝜶) 𝒕𝒈𝜶

ctg(𝟐𝝅 + 𝜶) 𝒄𝒕𝒈𝜶

ctg(𝟐𝝅 − 𝜶) −𝒄𝒕𝒈𝜶


